



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$\left(\left(\frac{1}{6}\right)^2 - \frac{1}{5}\right) \times \frac{1}{4} + \left(\frac{3}{4} - \frac{3}{5}\right)^2 =$$

$$\left(3 + \frac{1}{2}\right)^2 - \frac{1}{4} \times 3^2 \times \frac{1}{4} =$$

$$\left(5 + \frac{3}{4}\right)^2 - \frac{1}{2} \times 5^2 - \frac{3}{2} =$$

$$\left(2 - \frac{1}{4}\right)^2 - \frac{2}{3} \times \frac{1}{3} \times 4^2 =$$

$$\left(\frac{3}{2} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{3} + \frac{1}{3}\right)^2 =$$

$$\left(5 + \frac{1}{3}\right)^2 + \frac{2}{5} - \frac{1}{6} \times 4^2 =$$

$$\left(\frac{2}{5} - \left(\frac{3}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{2}{3} + \frac{3}{4}\right)^2 + \frac{1}{3}\left(\frac{1}{2} + \left(\frac{1}{5}\right)^2\right) =$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{1}{4} - 4^2 - \frac{1}{5} =$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{3}{4} \times \frac{2}{5} + 4^2 =$$



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$\left(\left(\frac{1}{6}\right)^2 - \frac{1}{5}\right) \times \frac{1}{4} + \left(\frac{3}{4} - \frac{3}{5}\right)^2 = \left(-\frac{37}{1800}\right)$$

$$\left(3 + \frac{1}{2}\right)^2 - \frac{1}{4} \times 3^2 \times \frac{1}{4} = \frac{187}{16} = 11\frac{11}{16}$$

$$\left(5 + \frac{3}{4}\right)^2 - \frac{1}{2} \times 5^2 - \frac{3}{2} = \frac{305}{16} = 19\frac{1}{16}$$

$$\left(2 - \frac{1}{4}\right)^2 - \frac{2}{3} \times \frac{1}{3} \times 4^2 = \left(-\frac{71}{144}\right)$$

$$\left(\frac{3}{2} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{3} + \frac{1}{3}\right)^2 = \frac{1057}{900} = 1\frac{157}{900}$$

$$\left(5 + \frac{1}{3}\right)^2 + \frac{2}{5} - \frac{1}{6} \times 4^2 = \frac{1178}{45} = 26\frac{8}{45}$$

$$\left(\frac{2}{5} - \left(\frac{3}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \left(-\frac{74}{75}\right)$$

$$\left(\frac{2}{3} + \frac{3}{4}\right)^2 + \frac{1}{3}\left(\frac{1}{2} + \left(\frac{1}{5}\right)^2\right) = \frac{7873}{3600} = 2\frac{673}{3600}$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{1}{4} - 4^2 - \frac{1}{5} = \left(-\frac{37}{10}\right) = \left(-3\frac{7}{10}\right)$$

$$\left(4 - \frac{1}{2}\right)^2 + \frac{3}{4} \times \frac{2}{5} + 4^2 = \frac{571}{20} = 28\frac{11}{20}$$